iy

3
P=si
i

1. ¥¥4
B4 AT TAEEE R E A N RS R XA M e R B
JEATST e o] FE E S PTE N

2. EBEAR
1) FHI4 fEIERE FHET B R
282 HI[H H & 74 6H24H

2) JE1THIR
£ ofn 8% 3H3LH

3) &FEtHM
AT L, R EE AT R H X ORI OV T R S s

W25 LT OMIERE R OVE A O EF ISR L COMIER 21T\, 24
CTHBRAZBOMEE, IESCH = E ~OWERSIE R OBROEMLE X5 Z &

ZHRET D,

4) FEHBNA
BE TEERRIL R D LBb,

E+sZi@E SN



N

i
I
%lljll
I

WA | DRTEE 1R EEE NS RAE R AME E SRR R S E BB
H H FEME SR
THH - T - fER] A7 % & 4 % OB RR
FEHE S = 1 721, 600
FEUE B E2V 1 721, 600
4 R S B =X 1 721,600 | 4 RRFEVESHIE
20 =8
N AN s <2 T AN
Jits A & 2y 1 362, 800
BRI 2y 1 362, 800
AR 2 1 362,800 | FEMIHI
0.2 km
E R = 1 51, 240
R = 1 51, 240
RS ey X 1 5,240 | fiRzsimtr (FEE - EIREE)
1 A
R R E = 1 46,000 | FEFRESLVERE
1 =
EEEH R = 1 1, 135, 640
R e = 1 1,014, 360
iS4 = 1 1,014, 360
P ESERSM = 1 2, 150, 000
— A EY 1 1, 318, 988
ELPERR AT Y 1 848, 780

-1- E+sZi@E SN



==
=]

m
2
%

¥HA | B TAEE R EEE PR S RS ME B R ER A WEERA
H H — A

IR
=

HE - M - ] AL i & 5 PR

AR —1 > 7 = 1 415,300 | HER—Y 7 (F—LarR—1

) 1 m
KEPEL « L b, BOmEL T, $AEL T, &
66mm

HER—Y 7 (F—ra T K=Y

) 5 m
b - BYE L, 50mEL T, /1B N, & 66mm

TEAR—V T (A —naTrR—U

) 5 m
R U0 2HD, 50mEL T, $RTEL 77, ¢ 66
mm

FER—=) T (A= aTR—1

) 4 m
#8075, 50mLA T, $AEL T 47, ¢ 66mm

P VT 4 T RO R = 1 202, 880 | {HEE AR

ikt - oLk
FEHE AR

b - WE+
FRAEE AR

HEIR U 0 £
PR AR

HoE

o

PPN = 1 169, 600 | i

B

R e T 59,000 | R IERE

resempes % 1 2,000 | BUEELE

-2 - E+sZi@E SN



i
I
St
%lljll
I

¥4 | AR THEE EEEE N ARSI SRR E B FRA
H H — R
THH - T - fER] A7 % & 4 % OB ORR
1 i
R A = 1 470, 208
TR 52V 1 97,470 | JE{RT
1 =X
el #: 1 284,390 | #Efiig & WA {1
1 =
FHAFLEAZE
1 =X
Fte=y =X 1 64,300 | JEHHGER
1 A
et Ay X 1 18, 121 | gty (FFtE - EmAME)
1 A
Wi T PRy = 1 5,927 | fi LA ERE
1 A
EETA -+ A X 1 1, 318, 988
il = 1 1,051,012
iS4 = 1 1,051,012
— A = 1 2, 370, 000
AT A = 1 142, 320
[EREE 57T = 1 142, 320
AT A = 1 142, 320 | fiEbrasaids
1 =
EREEAM (ZOMEmER<) = 1 142, 320
Z DA = 1 76, 639

-3 - E+sZi@E SN



i
I
St
%lljll
I

B | TR (@R EEE N S R E A R G ¥ F HU TR
HH Z Ot
HE - LfE - fy) B 7 ¥ & & AR PN R

— A A =K 1 111, 041
SEAT AT TS = 1 330, 000
A SET itk = 1 2, 700, 000
TERRER T = 1 11, 324, 444

—ARE R X 1 1, 544, 830

—IRHEE RN G =X 1 628,309 | ESI=\iERE

(1 )1 (f&p) =K

A SRR 5 2y 1 916,521 | TEAB5H#M
(1 )1 (&) K
&R X 1 9,779, 614
TR e = 1 9,779,614 | ZHEYE(
1 X
A
1 =
EREEAA
1 =
SHIEFEHIEEA - RS RHER
1 =
TE B LR
1 =
MRS R R
1 =
RELRARA et R E R
1 =

R

-4 - E+sZi@E SN



= N R
H 5 FIR =
¥4 | AR THEE EEEE N ARSI SRR E AT ESS
HH JE R
THH - T - R A7 % & & KA OB ORR
1 =
@ = 1, 164, 520
Him GREHED) =X 1, 164, 520
revss =X 928, 750 | ¥TAYE
1 =
BIFRHSREFT &tk
1 =X
Z DA 2y 100, 350 | MEEHNTH I L D@5
3 [A]
B RS ERR = 135,420 | ZABARCSRALTVERL
1 e
[EReS S~ = 1, 334, 126
[ERc2 S = 1, 334, 126
RS ey = 76,977 | it CGEEE - mAE)
1 A
B R T = 476,000 | FEFRCRAIERE
1 =
FshiR = 131,549 | HEbRReEr
1 =
et = 649, 600 | ZZE
1 =
EHRM (F O <) = 13, 823, 090
Z O FA = 6,579, 721
— B R = 10,977, 189
SERSAMA = 31, 380, 000
-5 - E+2mE SN )R



N

i
I
%lljll
I

WL | AT R EER N R X AR M S TS iR S E i BSiE i
HH B3
HHE « 1Tff - fiihl B fif W& & FH MR N R
SERSMA = 1 36, 230, 000
— 6 —

E+sZi@E SN



